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Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions from the following:
2x10=20

e el e @-@ien wife aris Tea i ¢

a)  What is personal income?
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b) Define GNP.
GNP-= 7gesl wie |

c)  What is real national income?
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d) IfC=20+0.45Y, find values of APC and MPC.
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Define hyper-inflation.
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Why does frictional unemployment happen in

economy?
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State the components of BOP account.
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Mention two money supply instruments to

control inflation.
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Define final product and intermediate product.
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What is planned saving?
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Define money.
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What is implied by MPS= 0.25.
MPS= 0.25 @7 =1 52

m) Whatis IS curve?
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Which type of unemployment has the marginal

productivity of the workers as 0?
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What is implied by negative savings?
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Answer any four questions: 5%x4=20
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Explain the properties of Keynesian

Consumption function using diagram.
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Briefly explain advantages and disadvantages of

inflation.
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What is aggregate demand? Explain the reasons
of shift in aggregate demand with diagram.
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How the cost of living index is formed? What
is implied by an increase in this index?
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Answer any two questions:

How can we avoid error of double counting in

NI accounting? Give example.
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Briefly explain NI accounting identity in an open

economy.
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3.
a)
b)
c)
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Explain how we can determine the equilibrium
level of national income when autonomous

investment rises with the help of diagram.
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What is circular flow of income? Explain it

under open economy framework. 4+6=10
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Define LM curve. Explain its’ shape with the
help of a diagram. Mention one reason to shift
in the LM curve in upward direction.
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Which type of inflation happens in full
employment situation? What are the reasons
behind such inflation? Define deflation. How
does it differ from inflation?  1+4+1+4=10
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